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A)

Please check whether you have got the right question paper.
1) All questions are compulsory.

2) Use black and blue pen only.

3) Use of any signs, attracting attentions is prohibited.

?) Td 9T HISfAur aeds 3Te.
Q) BFd @dT T HIedT ABTAT YTdrd aTa FHIaT.

3) FIUTAET F&TdErH FGOT qHIAT I Gl 3MTg.

Fill in the blanks. (attempt all) 05
1) The number of people in different age groups is referred as ----------- :

2) Fertility differs from -------------

3) - population is the ideal size of population.

R common direct method of collecting demographic data.

5) ‘Black Child’ term applied in --------- country.

37) Reprear SEm RT.(TT AfAar)

B)

?) JIAITAT FARTETNS hhiedT FEARN FeNT - HheAT TRel STel.
QY hRss I SAAAGTHAT Feet 31T

3) NFEEIAT HEL IR FEUIST —-emneen cNHEAT B,

§) FTHTEITOT —nemee & pHEdT AT AR MesT FUAT TeaaT Tgd 378,

Answer in one sentence (attempt all) 05
1) Who is the father of demography?

2) Define demography

3) Which is the most populous state in India?

4) Which day is celebrated as world population day?

5) Which is the second stage of Demographic transition?

d) Tl arerdTd 3ca] forgr. (Fa 3ifaan)

?) SIRHET AFATT STeleh HIUT HTgd?
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) ARHEIRITEATH <ITEdT &3

3) RANS AT SIEd Alha&dd Tsd HIUTA?

¥) ‘SIRTideh ehdedr fead Fgul 0T fGad AT dhell STl
$) NHACIRIMEAT ThHHAUM GEI IaTAT HIUTCT.

Q.2 A) Explain concept / terms / units / events (any two) 10
(word limitation minimum 60 for each answer)
1) Mortality
2) Environment
3) Postindustrial stage
4) Social demography

37) TheUdT /| AT / UCHh |/ T TISC . (PIUTe! aled)
(TAF 3caIE fhATT 2eg AITET o AsT)
?) AIAT
) gITaRoT
3) 3ccX A aer
¥) AT Al aEITTE

B) Attempt in short (any two) 10
(word limitation minimum 60 for each answer)
1) Explain the problem of aging.
2) Explain the consequences of population growth.
3) State the causes of high birth rate in India.
4) Explain India’s New population policy.

d) AsFATT 3cd] Togl (hIuTder ale)
(TP Fcard fhaATT sg AGTET o 2UsT)
?) TIUTHITAT THTAT TISC Hl.
Q) ARHEHT dlerd RO TISEC Al
3) HARATAT S SIeHGRIRT ShROT HiaTT.
Y) HARCRD Adie] GlhaEdl YRUT TASC .

Q.3 Answer in detail (any one) 20
(word limitation minimum 200 for each answer)
1) Explain the relation between population growth and environment.
2) Explain the stages of demographic transition.
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AT 3k oIl (FuTaer Tah)
(T 3card fhaATe 2rsg FAATET 200 20sq)
?) SIHEET a6 30T YATaROT ATdiel TaY TISC .
Q) ATPHTIARMERT HHHAUTAT ATAT TISC Hl.
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